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Regression report

Date: 2024-09-13 Time: 15-17-02

Summary report
Module Total testcases
ip_neighbor 16
Testcase Complete Summary: Total: 16, Passed: 16, Failed: 0
Detailed report of ip_neighbor
Testcase summary: Total: 16, Passed: 16, Failed: 0
Testcase
name Status User Input Commands
Input: { o ds: [
test_case_01.1 Passed np! ntf ipy6_neighbors®: [ ommands
“intf_ipv6_neighbors": [
"adv_interval_option": true,
“dad®: "enable” *ad_interval option’: true,
“dnssies [ “dad®: “enable”
“dnss
“"name”: "abc.com" {

"valid_lifetine": 1008

1

“home_agent_config": true,
“home_agent_Lifetine":
t_preference’: 12,
"Ethernet20”,

“UEnk Layer sddress: "A1:54:€5:C1:00:3€"

1

“other_config": true,
“ra_fast_retrans":
“ra_hop_limit": 148,
ra_interval msec": 180000,
ra_prefixes™: [

“no_autoconfig*:
“off_Link®

true,

“preferred lifetime": 1800,
"prefix': "1:1::1:1/1",
"router_address”: true,

"valid_lifetine": 109909

a_retrans_interval®: 800000,
[

rdnss"

name: .
valid_lifetine": 1000

1,

“home_agent_config": true,
“home_agent_Lifetine": 2060,
“home_agent_preference”: 12,

true,

10,
“nin ra_interval msec:
“mtu®
neighbors: [
<

12000,

ipt: *1::17,
Uink layer_address*: *A1:B4:C5:C1:0D:3E"

}

1
“other _config": true,
“ra_fast_retrans": true,

186000,

"address®: "1:1::1:1",
"valid_lifetine": 750000 address": " i,
3 valid Lifetine": 750000
1 }
reachable_time": 500, 1
router_preference*: “low", eachable_time": 500,
suppress”: true router_preference”: “low*,
1. “suppres:
1 b
"adv_interval_option”: true, 1
dad”: 3 Jad dnterval_option’: trus,
ad able",
“name”: “xyz. co
“valid lifetime": 2000 nane”: "xyz.con",
valid lifetine": 2000
i ¥
"home_agent_config": true, 1,
home_agent_Lifetine": 3000, hone_agent_contig®: true,
home_agent ce”: 13,
interface
interval!
Lifetime: 4600,
"nanaged_config": true,
“min_ra_interval®: 120, “managed config® true,
"min_ra_interval msec': 13000, “min_ra_interval’: 120,
in_ra_interval msec’: 13000,
tu”: 825,
neighbors*: [
“ip! {
“Uink layer address*: "A2:B3:C4:C5:06:4€" ipti "2::27,
Uink layer address”: “A2:B3:C4:(5:06:4E"
¥
"other_config" )
ra_fast_retrans” “other_config": true,
ra_hop_limit"
ra_interval ,
ra_prefixes ,
{
“no_autoconfig": true,
"off_link": true, “no_autoconfig": true,
"preferred | Litetines: 2060, f_Link'
prefix: 12:2::2:2/2°,
outer_addre:
nalie Uitetine® Savsto
1. }
“ra_retrans_interval": 900000, 1
“rdnss’: [ “ra_retrans_interval’: 900000,
“rdnss": [
"address®: 2:2::2:2", €
“valid_lifetine": 760000 address”: "2:2::2:2",
valid_lifetine": 760000
1 }
“reachable_time": 600, 1
"router preference": ‘mediun’, “reachable_tine": 600,
"suppress’: true “router_preference": "mediun,
“suppress
1.
"2 400, “ipv4_arp_timeout": 120,
600, pv4_drop_neighbor_aging time": 400,

“num_local_neigh": 340

“ipv6_drop_neighbor aging time": 600,
“ipv_nd_cache_expir

“num_local_neigh": 340,

“state

Before
Before: {
“intf_ipvé_neighbors": [

“dad";
“interface":

“disable’,
"Etherneto”

Ethernetd”

"dad” b1
"interface”:

“dad®:
“interface":

“disable’,
"Ethernets”

Ethernet12”

“dad®:
“interface":

“disable’,
“Ethernet16"

Ethernet20”

“dad";
“interface":

“disable’,
"Ethernet24”

dad”: "disabl
"interfac

Ethernet28”

“dad"
“interface":

“disal

ble',
“Ethernet32"

dad”: "disabl
interface

Ethernet36"

“disab
“interface":

e,
“Ethernetdo"

“dad"

“interface": "Ethernetds”
i
1
3o
{
"dad": “disable",
"interface": "Ethernetse"
i
1
dad”: "disabl
interfacy
3o
{
"dad": “disable",
“interface”: "Ethernet6d"

“dad": "disable"

“interface": "Ethernet72"
I3
<
ble’,
Ethernet76"
I3
<
“dad”: “disable”,
*interface": "Ethernet8o"
%
<
dag”: “disable”,
interface": “Ethernetsd”
I3
<
“dad”: "disable"
“interface": "Ethernet8s"
ble’,
Ethernetoz”
“dag®: “disable”,
“interface": "Ethernet9s"
%
<
ble’,
Ethernet100”
I3
<
“dad®: "disable"
“interface": "Ethernet104"
I8
<
dag”: "disable”,
interface": “Ethernet108"
I3
<
“dad”: "disable"
“interface": "Ethernet112"
I8
<
Ethernet116"
I3
<
e,
“interface": "Ethernet120"
I8
<
I3
<

"disable’,
"interface": "Ethernet128"

e,
"interface®: Managemento”,

[
“fe8

€670:41f: fede:5bs"

Vian1®

*ipud_arp_

timeout”: 180
"ipvé_nd_cache_expiry": g

Passed

0
After
v (
intf_ipve_neighbors™: [
“dad"; “disable",
“interface": "Etherneto"
),
t
ad": "disable",
nterface": "Ethernetd”
+
{
“dad"; “disable",
“interface": "Ethernets"
),
t
ad": "disable",
nterface”: "Ethernet12”
3
{
“dad"; “disable",
“interface": "Ethernet16"
),
t

dv_interval_option
ad able”,
inss 1.

true,

“name": "abc.con",
“valid_lifetine": 1000
3

“interval

“lifetine": 4500,

*managed_ canhg
n_ra_interval

true,

“ra_prefixes

“no_autoconfig": true,

Off_ink": true,

[

addres:
valid_lifetin

}

“reachable_tine": 500
“router_preference”:
uppress”: true

low,

“dagd": "disable
“interface": "Ethernet2s"

“dad": *disable
“interface': "Ethernet32"

“dad": "disable
“interface": "Ethernet3s"

“dad": *disable
“interface": "Ethernetde"

“dad": "disable”
“interface": "Ethernetd4”

“dad": "disable
“interface": "Ethernetds"

ndade:
nterface

"disable",
"Ethernets2"

“d able”,
“interface': "Ethernets6"

disatler,
"Ethernet60”

~dade:
nterfac

“dad"; "disable”,
“interface’: "Ethernet6d"

jad" : "di
nterface

ble”,
"Ethernet68"

ad": “disable”,
“interface': "Ethernet72"

jad": "disable”,
interface": "Ethernet76"

ad"; "disable”,
“interface': "Ethernet8e"

jad" : "disable”
interface™: “Ethernetgd”

“dad"; "disable”,
“interface': "Ethernet8s"

jad": "disable”,
interface: "Ethernet92"

jad able”,
“interface': "Ethernet96"

jad": "disable”,
nterface”: "Ethernet10e”

“dad"; "disable”,
“interface’: "Ethernet104"

jad": "disable”,
nterface: "Ethernet18”

“dad"; "disable”,
“interface’: "Ethernet112"

jad": "disable”,
nterface”: "Ethernetlls”

te”,
“interface': "Ethernet120"

jisable”,

“ra_retrans_interval": 800000,
rnrens

Failed
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Module

exception

Error

“No Error”
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Testcase
name Status User Input
test_case 012 Passed  InPuti Comnands: [1

ut: {
“intf_ipvé_neighbors: [
{

adv_interval option': true,
dad g

name”: “abc. com
“valid lifetine': 1000

home_agent_config
home_agent_Lifetine"

"nanaged_config": true,
"min_ra_interval': 110,

min _ra )nter\lal msect: 12000,

ne)ghbors‘ [
"ip: "liil"
"Link layer address”: *A1:B4:CS5:CLiDD:3E"

other_config": true,
true,

148,
+ 180600,

“ra_prefixes:

"no_autoconfig": true,
"off_Link": true,
"preferred Lifetiner: 1000,

~_address”: true
“valid_lifetine": 100000

1

"ra_retrans_interval’: 800860,

"rdnss": [

"address”: "1:1::1:1%,
wwalia tifetinet: 750600

1

“reachable_time": 500,
"router_preference”: “lou",
"suppress”: tru

1
1{

ady_interval._option’
nab!
Yonaster [

true,

“nane’ 2. com
"valid_lifetine": 2008

hone_agent_conig®
home_agent _Lifet
“home_agent preference
“interface: "Vlanl"

mtu
“neighbors®: [

wiprs v2:1:2
"Link layer_address

"A2:B3:C4:C5:D6:4E"

other_config": true,

ra_fast_retrans": true,

“ra_hop_limit': 150,

"ra_interval msec: 190000,

“ra_prefixes’:
1

no_autoconfig®
ink': true,
preferred lifetine: 1960,

true,

Ponten addresst: true,
“valid_lifetine": 200000

960000,

ra_retrans_interval”
rdnss”: (

"address”: "2:2:12:2",
“valid_lifetine’: 760000

suppress’

1
"ipv4_arp_tineout .
"ipv4_drop_neighbor_aging_time": 400,
+pv6_drop_nedghbor_aging tine": 600,
*1pu6_nd_cache_expiry”: 200,
“nun_Tocal_neigh

Commands

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Befor

ore: {
“intf_ipve neighbors": [

"dad”

Before After

“interface": "Ethernet124"

“dad": "disable”
“interface": 'Ethernet128"

b
{
: ble,
interface: "Ethernet129"
b
{
“dad": "disable”,
“interface": "Managemente",
“neighbors”: [
“ip*: "fe80::e670:4ff: fede:5bs"
)
1
b
1

“Uink 1ayer_address: *

1
“other config": true,
.

1m0 sutocontig": true,
true,

preferred_Lifetine

prefix”

a_retrans_interval": 900000,
“rdnss": [

“address”

2,
valid_lifetine": 760000
}

1
“reachable_time": 600,

“router_preference":
“suppress”: true

ad": “disable”,
interface": “Vian2"

N

“ipva_arp_timeout": 120,
“ipv4_drop_neighbor_aging_time": 400,
ipv6_drop_neighbor_aging tine": 660,
ipv6_nd_cache expiry”: 200,
“num_local_neigh": 340

After: "Not defined"

"disable’,

"interface": "Etherneto”

*dad" e,
“interface": "Ethernetd”

"dad”:
interfac

"disable’,
Ethernets”

"dad": "disable’,
“interface": "Ethernet12"

name”: "abc. con”,
valid 1ifetine - 1000

1,

“home_agent_config": true,
“home_agent_Lifetime": 2000,
“home_agent_preference": 12,
"interface": "Ethernet20”,

110,
“min_ra_interval msec": 12000,
“mtu’: 725,
“neighbors®: [
{

"ipt: '1::17,
“Uink_layer address”: "AL:B4:C5:C1:0D:3€"
1

“other_config": true.

"ra_fast_retrans’: true,

“ra_hop_linit": 148,

“ra_interval_msec": 180000,

“ra_prefixes': [

{

0_autoconfig*
7 Link": true,
"preferred lifetine": 1800,
"prefix': "1:1::1:1/17,
"router_address”: t
"valid Tifetine’: 100000

¥
1.
ra_retrans_interval*: 800000,
“rdnss
“address®: "1:1::1:1,
"valid_lifetine": 750000

ow
“suppress

"dad": "disable

"interface": "Ethernet24”

"dad": "disable

"interface": "Ethernet32®
"dad”: “disable”,
“interface": "Ethernet36"

"dad": "disable"
"interface": "Ethernetdo®

d*: “disable’,
“interface": "Ethernetdd”

"dad": "disable"
"interface": "Ethernetds”

“dad": "disab]
“interface":

ethernetsz-

"dad": "disable"
"interface": "Ethernetse"

“dad": "dis;
vinterfacer:

e thernetso-

o oisable
"intel : "Ethernetsd”

“: disable",
“interface": "Ethernet68"

"dad": "disable
"interface": "Ethernet72"

“dad" ble',
“interface": "Ethernet76"

Module
exception

Error:

“No Error
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Testcase
name Status User Input
test_case 021  Passed  InPuti (

“intf_ipv6_neighbors: [
{

false,

"adv_interval_option":

"managed_config”: false,
"nin_ra_interval’: 13
min ra_interval mse

t 12500,

"ip': "1i:1”,
“link layer address": "A5:B4:(3:C2:0D:31"

other_config”
ra_fast_retran:
ra_hop_Uimit": 168,
ra_interval_msec"
ra_prefixes”s [

false,
: false,

176600,

“no_autoconfig": false,
"off_Link": false,

"preferred_lifetine": 1890,
prefi 10151/
router_address*: false,
“valid_lifetime": 122000

1

Ira_retrans_interval": 876000,

“rdnss®: [

jdress”: "1:1::1
va\)d Lifetine

880000

1
“reachable_time": 975,
“router_preference": "high",
"suppress’: false

1

{

isable_ipv6_on_failure",
[

“name”: “123,con",
"valid_lifetine": 57643
home_agent_config*: false,
4000,
14,

false,

25,
13200,

“prs

20
"Link layer_address”: "C2:F3:D4:E5:A6:4E"

other_config:
ra_fast_retran
ra_hop_limit*: 154
"ra_interval msec': 195000,

false,
false,

Commands

Comnands: [
“intf_ipvé_neighbors": [
{

adv_interval option': false,
ad”: ble”,

“name": *abc.com

“valid_lifetine": 2200

1,
“home_agent_config": false,

“managed_config
n_ra_interval”

130,
o mterval _msec”: 12500,

tuf
"ne)ghburs" [
{

ip":
“lnk \ayer address”:

:C2:00:31"

“other_config": false,
- faise,
8

no_autaconfig": false,

false,
122000

876000,

1
“ra_retrans_interval®:
“rdnss”: [

address* 1,

valid_lifetine": 880000
)

1

“Feachable_tine": 975

“router_preference":

“suppress”: false

“high",

“dad
“dnss’

disable_ipv6_on_failure®,
il
“name”: "123.con

“valid lifetine": 57643

“neighbors”: [

“ipr: "1ii20,

“link layer address": "C2:F:

ther config”: false,
a_fast_retrans: false,
“ra_hop limit": 154,

Before
+
"dad": “disable",
"interface": "Ethernetgo”
3
{
Ethernetad”
+
{
"dad": “disable’
"interface": "Ethernet3s"

“dad"

ble",
"interface": "Ethernet96”

“disabl

"disable’,
"interface": "Ethernet104”

e,
"interface": "Ethernet112"

+
{
"disable",
“interface": "Ethernet120"
1
{
abl
+
{
“dad" ; ble",
“interface": "Ethernet128"
1
{
+
{
+fede:shs”
1.
1
ame*: *xyz. con"
"alid Uifetine": 2000
1
"home_agent_config": true,
“home_agent_lifetine": 3000,
home_agent_preference’: 13,
“managed_config": true,
“min_ra_interval’: 120,
“min ra_interval msec": 13000,
" 82:

vip' v2::2%,
"link layer address": "A2:B3:C4:C5:06:4E"

1
Jother_contig": true,
ns!

“ra_fast_retrans": true,
a_hop.

ra_interval msec*: 190000,

“ra_prefixes":

“no_autoconfig":
"off_Link": true,
"preferred lifetine”
2:2/2%,
true,

true,

1900,

“valid lifetime": 200000
1
“ra_retrans_interval®: 900000,
“rdnss®: [

ress” i2:2%,

wealia litetine: 760800
1
"reachable_tine: 600,
“router_preference": “mediun’,

"suppress”: true

1

"ipva_arp_tineout": 120,
*1pud_drop_neighbor_aging_tine’: 400,
*ipv6_drop_neighbor_aging_time": 600,
“ipv6_nd_cache_expiry": 200,
“nun_tocal_neigh": 340

}
Before: {

“intf_ipv6_neighbors: [
"dad": "disable"
"interface": "Etherneto”
“dad" e,
“interface": "Ethernetd”

1
"dad": "disable’,

"interfac

Ethernets”

dad”: “disable”,
“interface": "Ethernet12"

dy_interval option”: true,
“dad”

ame": "abc.con",
“valid_lifetine": 1000

home_agent_config": true,
"home agent Lifetine": 2000,
"hone_agent_preference’: 12,
"interface": "Ethernet20",

“ntu*: 725,
"neighbors®: [
1

"ipt: 1::10
"Link_layer_addres

other_config": true,

"ra_fast_retrans"

“ra_hop_limit": 148

“ra_interval_msec":

“ra_prefixes': [
1

t
180800,

o autocontiy”:

true,

int ve,
preferred \1feume“ 800,
"prefi /
“router_address": true,
"valid Tifetine': 100000

¥

ra_retrans_interval®: 800000,

“rdnss®i [
"addre 113117,
Watid tifetinet: 750600

¥
1
reachable_time":
router_preference
"suppress’: true

~dad®
"interface”:

“disable”
"Ethernet24®

A

fer: {
“intf_ipv6_neighbors": [

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Module

After exception

Error: "No Error*

*dad": "disable”
nterface”: "Etherneto”

+
{
ad": “disable*,
“interface": "Ethernetd”
b
{
"disable
nterface": "Ethernets”
+
{
“dad*: “disable
“interface": “Ethernet12”
}.
{
ad": "disable
nterface": "Ethernet16”
+
{
nterval_option’: false,
oo rsanie
“dnssl"
“name”: "abc.con",
valid_lifetine": 2200

}
1

one_agent_config®

“home_agentLifetine:

“hone_agent_preference”: 144,
: "Ethernet2o”,

70,
B

4:03:02:00:31"

168,
"ra interval msec“:
efixes”

176000,

no_autoconfig

off_Link*: false,
preferred lifetine’: 18:
“prefix': "1
“router_address”
“valid_lifetine": 122000
)
876000,

a_retrans_interval

“address”: '1i1:
“valid Lifetine"

“dad": "disable”
“interface": "Ethernet24"
b
{
jisable’
nterface’: "Ethernet28"
i
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Testcase Module
name Status User Input Commands Before After exception
"ra_prefixes': [ “ra_interval_msec’: 195000,
“ra_prefixes®: [ R “disable", “dad"; “disable",
o sutocontige: false. < “interface": 'Ethernet32" “interface": "Ethernet32"
"off Link': fa o autocontiy:: fatse. 1 3
“preferred Ufet)me“: 1400, _Link' 1
5:5/5 preferred | “itetiner: 1000, ad": "disable”
prefix": *5 5/ nterface": "Ethernet3s"

- address*: false,
“valid_lifetine": 303030

router_address”: false, 3. )
valid_lifetine": 303030 {
1 i “dad": “disable", “dad"; “disable",
“ra_retrans_interval": 899000, 1 "interface": "Ethernetdo” “interface": "Ethernet4o"
“rdnss': [ “ra_retrans_interval’: 899000, 1 ).
“rdnss": [ t
"address®: 7:7::7:7", “dad": "disable", ad": "disable",
“valid_lifetine": 8800000 addres interface”: "Ethernetdd” nterface": "Ethernetdd”
valid_lifetine": 8800000 3. )
1 } {
“reachable_time": 800, 1 “dad": “disable", “dad*; “disable",
srouter_preference: “lov", “reachable_tine": 800, "interface": "Ethernetds” “interface": "Ethernetds”
"suppress’: false Jrouter préference”: Flou”, 1. 3
“suppress”: t
} lad": "disable”,
pv4_arp_timeout 1, nterface”: "Ethernets2”
pv4_drop_neighbor : agmg time: 654, ipvd_arp_timeout . )
py6_drop_neighbor_aging tine": 587, ipv4_drop_neighbor_aging_time 1 {
*ibvend. cache expiry:: 140, “ipv6_drop_neighbor_agis “dad”: “disable", “dad"; “disable",
“nun_tocal_neigh": 555 “ipv6_nd_cache_expiry’ “interface": 'Ethernetse" “interface": "Ethernetss"
“nun_local_neigh" 3
“state": “merged" 1
} lad": "disable”,
) nterface: "Ethernet60”
3
{
“dad”: "disable", “dad"; “disable",
"interface": "Ethernet6s” “interface": "Ethernet6d"
1 ),
€
“dad": "disable", ad": "disable",
“interface": "Ethernet6g" interface": "Ethernet6s”
. )
{
“dad”: "disable", “dad"; “disable",
“interface": "Ethernet72" “interface": "Ethernet72"
1 h
1 t
“dad": "disable", “dad": “disable",
“interface": "Ethernet76" “interface": "Ethernet76"
. )
{
“dad”: "disable", “dad"; “disable",
“interface": 'Ethernet8e” “interface": "Ethernet8o"
1 h
1 t
“dad": "disable", ad": "disable",
“interface": "Ethernet8d* interface": "Ethernetgd”
. )
{
“dad": "disable", “dad"; “disable",
“interface": 'Ethernet8s" “interface": "Ethernet8s"
1 h
t
“dad": "disable", ad": "disable",
“interface": "Ethernet92 nterface": "Etherneto2”
. )
{
“dad": "disable", “dad"; “disable”
“interface”: "Ethernet9s” “interface": "Ethernet9s”
1
1
. “disable”,
“interface": “Ethernet100”
“dad”: "disable", “dad"; “disable",
"interface": "Ethernet104" “interface": "Ethernet104"
1 .
1
Ethernet108"
“dad": "disable", “dad"; “disable"
“interface": "Ethernet112" “interface": "Ethernet112"
1 .
1 t
jisable:
nterface’: "Ethernetlls”
3o 3
"dad": "disable", “dad"; “disable
“interface": "Ethernet120" “interface": "Ethernet120"
h
€
dad": “disabl ad": "disable
interfac nterface’: "Ethernet124”
3
{
" “disable", “dad"; “disable
“interface": "Ethernet128" “interface": "Ethernet128"
1
t
jisable:
nterface’: "Ethernet129*
3
{
"dad": "disable", “dad": "disable”,
“interface’: 'Managemento", “interface": "Managemento",
“neighbors”: [ “neighbors": [
[
€6f0:4ff: fede:5bs" “ip": “fe80::e60:4ff:fede:5bs"
} }
1 )
3. ),
{
v intervat option®: true, o snterual_option': true,
“dad": "enabl "disable_ipu6 on failure”,
"dnss [
{
ame”: “xyz.con" name”: *123.con”,
“valid_lifetime": 2000 “valid_lifetine": 57643
3
1
"home_agent_config": true, “name”: "xyz.con",
“home_agent_lifetine": 3000, “valid_lifetine": 2000
home_agent_preference’: 13,
interface”: "Vianl",
interval! ome_agent_config"
“lifetine': 4600, ome_agent_Li fetine:
“managed config": true, hame_agent preference’: 14,
“min_ra_interval’: 120,
“min_ra_interval msec": 13000,
rue
"ra_fast_retrans’: true,
a_hop_L
ra_interval msec": 190000,
“ra_prefixes":
o sutoconfig": true,
"off_link"
“preferre
refix
outer_address®: true
"valid_ifetine": 200000
1. {
“ra_retrans_interval’: 909000, “no_autoconfig": true,
“rdnss’: [ “0ff_link": true
“preferred \1feume" 1900,
; 1227, :2/2%,
“valid_lifetine": 760000
1 .
“reachable_time": 600, €
“router preference": ‘mediun’, o avtaconti: false,
"suppress’: true “off_link":
1. “preferred \1feume" 1400,
1 " :5/5%,
dad": “disable",
interface”: "Vian2*
} }
1 1
“ipv4_arp_timeout" “ra_retrans_interval’: 899000,
"ipv4_drop_neighbor : agmg tine": 400, “rdnss": [
"ipv6_drop_neighbor_aging_time": 600,
*1pv6_nd_c piry": 200, “address”: "2:2::2:2",
“nun_Tocal_neigh": 340 valid_lifetin
} +
“address*: "7:7::7:7",
“valid lifetine: 8800000
“dad": "disable”,
“interface": "Vlan2"
“ipva_arp_timeout": 132
“nun_local neigh": 55
¥
test case 02.2  Passed  Input: { Commands: (] Before: { After: "Not defined" Error: "No Error
—AsEEe “intf_ipv6_neighbors": [ “intf_ipv6_neighbors”: [
‘v interval option: false, “dad": “disable",
“dad"' ,disable” “interface”: "Etherneto”
“inssie: [ 1.
1
“name”: “abc. con", "dad": "disable"
nalid Uifetine": 2200 "interface": "Etherneta”
1 {
home_agent_config": false, “dad" le”,
“home_agent lifetime": 3300, "interface”: "Ethernets”
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name Status User Input Commands

"home_agent_preference”: 144,

"managed_config”: false,
min_ra_interval®: 130,
min_ra_interval_msec': 12500,

meu”: 770,

neighbors”: [
diprs
"Link layer address”: "AS:B4:C3:C2:00:31"

“ra_prefixes': [
{

"no_autoconfig": false,

of _Link": false,

Dreferred Lifetime:
n

1890,

pre
“Pouter addre:
e T eriner 133000

1

ra_retrans interval: 876000,
E

rdnss”
“address 117,
“valid_lifetine": 880000

1

"reachable_tine": 975,

router_preference”: "high”,

Suppress”: false

dad": “disable_ipv6_on_failure",
“dnssi®s [

mtu”: 826,
“neighbors®: [

wiph
"Link layer_address

"C2:F3:D4:E5:A6:4E"

other_config": false,
ra_fast_retrans: faise,
“ra_hop_Uinit": 154,
“ra_interval msec*: 195000,
“ra_prefixes®: [

1

no_autoconfig": false,

off Link: false,

preferred lifetine*: 1400,
efix':

“router_address®: false,
“valid_lifetine’: 303030

1
ra_retrans_interval®: 899000,
(

address 17507277,
“valid lifetine’: 8800000

“ipva_arp_tineout": 132,
"ipv4_drop_neighbor aging time": 654,
ipue drop neighbor aging ine": 587,
v6_nd_c iry"
num,\o(x\,ne;gw

555

50f19
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+

1

Before After

“dad": "disable"
"interface": "Ethernet12®

Ethernet16”

vadv.interval option* false,
~dag™: "dis
"dnssU": [

{

“vatid ifetines: 2200

1,

“home_agent_config": false,
“home_agent_Lifetine": 3300,
"home_agent_preference": 144,
"interface": "Ethernet20”,

5
“managed_config"
“min_ra_interval
“min ra_interval msect: 12500,
“mtu”

“neighbor:

A5:84:C3:C2:DD:31"

168,
ra_interval msec’: 170000,
"ra_prefixes®: [

“no_autoconfig*: false,

"off link": false,

"preferred lifetine": 1899,
g 17,

"prefix!

“router_address”: false,
“valid_lifetine": 122000

1
“ra_retrans_interval®: 876000,
“rdnss": [

"address
"valid_lifetine": Yesoso

1
reachable_time": 975,
“router_preference”: "high",
"suppress": false

~dad"
"interfac

"disable’,
Ethernet24”

disable”,
“interface": "Ethernet28"

“dad": “disable’,
“interface": "Ethernet36"

e,
“interface": "Ethernetdd”

"dag”:
interfac

"disable",
Ethernetds”

"dad": "disable’,
“interface": "Ethernet52"

"dad": "disable’,
“interface": "Ethernet6o"

“dad": “disable
"interface": "Ethernet6s”

"dad”: ble",
“interface": "Ethernet72"

“dad": “disable’,
"interface": "Ethernet76"

“dad

": "disable",
"interface": "Ethernetgo”

"dad": "disable’,
“interface": "Ethernetgd”

"dad": "disable’,
“interface": "Ethernet8s”

“dad": “disable’,
"interface": "Ethernet92”

"dad": "disable’,
“interface": "Ethernet96"

“dad": “disable’,
"interface": "Ethernet100"

"disabl
"interfac

Ethernet104"

“dad": “disable’,
“interface": "Ethernet108"

Ethernet112"

“dad": “disable’,
“interface": "Ethernet1ls”

"disabl

“dad" ble',
“interface": "Ethernet124"

"disabl

“disable’,
“interface": "Ethernet129"

Management"”

€610:41f: fede:5b5"

adv_interval option”: true,
dad”: “disable ipv6_on failure"
[

“name”: "123.con",
"valid lifetine": 57643

e a
“walid ifetine - 2000

1
"home agent_config": false,
"home agent Lifetine": 4000,
"home agent preference”: 14,
interface™: "Vianl",
interval!

“lifetine": 4800,
"nanaged_config": false,
"min_ra_interval': 125,
a_interval msec': 13200,

[

C2:F3:04:E5:A6: 4E"

wiph: 121120,

Module

exception
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Testcase Module
name Status User Input Commands Before After exception

“link layer address*: "A2:83:C4:C5:06:4€"

1
"other_config": false,
: false,

154,
= ~: 105000,
"ra_prefixe

"no_autoconfig": true,
“off_Link": true
"preferred Ufeume“ 1900,
"prefix": :2:2/2"
outer_address" :
alid_lifetine

true,
200000

+

“no_autoconfig*: false,

“off Uink": false,

“preferred lifetine’: 1400,
b P

“valid lifetime": 303030

1
“ra_retrans_interval®: 899000,
“rdnss": [

"address”: "2:2:
"valid_Uifetine’: %3 obo0

107

ress ,
“valid_lifetine’: 8800000

I

"reachable_tine": 800
router_preference": “low",
"suppress

“dad": “disable’,
“interface": "Vian2"

1

"ipva_arp_tineout": 132
"ipva_drop_neighbor_aging_tine": 654,
“ipv6_drop_neighbor_aging_time": 587,
“ipv6_nd_cache_expiry": 140,
“num_local_neigh": 555

)
. Tnput: { Comnands: [ Before: { Atter: { Error: "No Error®
test_case 03.1  Passed "intf_ipv6_neighbors”: [ { “intf_ipv6_neighbors”: [
R “intf 1pus neighbors®: [
interface": “Ethernet20”, « ad": *disable
neighbors®: [ “interface": "Ethernet20", nterface’: “Etherneto”
“neighbors": [ I3 b
vt e R }
“Uink layer_address®: "D1:E2:83:C4:AR:44" "dag®: disable’, “dad": "disable”
“interfac “interface": "Ethernet4"
. .
prefixes’s [ 1
- isable
"preferred Tifetine": 2700, “interface": "Ethernets”
“prefix® ) . b
s iretinet: 300000 t
3 “dad": "disable”
1 “interface: "Ethernet2"
rdnss": [ . 1
{
“address®: *1i1::1:1°, e, ad: “disabler,
“valid Uifetine*: 85000 Ethernet1s® nterface": "Ethernetls”
. 3
1 t
% terveLoption®: faise, *adv_interval_option': false,
« d*: “disable
[
ane”:_“abc. con” “nane”: "abc.con*,
“ipts 1 R detiner: 2200 valid Uifetine": 2200
“ink layer address®: *AR:B1:C2i00iE4iFS" “interface’: "Viant", y ¥
“neighbors": [ 1 N
{ “home_agent_config": false, “hone agent config": false,
Fa_prefixes': [ iprs "1i2v, “hone_agent_Lifetine’: 3300, 3300
Link layer_address
“ro_sutocontig®: true,
“prefix": '5:5::5:5/5"
) refixes*: [ 600,
1 1 “nanaged_config"; false, “managed configh, folse,
“rdnss®s o autocontia!: fatse, “min_ra_interval®: 130, “min_ra interval’: 130,
"minra_interval nsec’’ 12500, "min ra_interval msec'! 12500,
“address®: *7:7::7:7", {Fetine: 1400, ntu: 770 tur: 770
"valid Uifetine": 3800 5/ [ eighbors*: [
false,
1 i : 303030 pt: 11, “ip": 11
) ) “Uink layer address®: *AS:B4:C3:C2:0D:31° Uik Tayer addresse D1:E2:83:Campcaan
1 ) )
) t 1 1
rother conrig”: fotse, other contig”: folse,
ses “ra_fast_retrans’: fatse,
valid Uifetine T hop Timee: 160,
) ra_interval_msec*: 170000, ,
1 “ra prefixes®: [
}
1 ino sutocontis®: fatse, “preferred Lifetiner: 210,
"itate": "deleted” “off Uink: fa “prefix 1
) "preferred Ufetiner: 1800, 300060

false,

intf_ipvé_neighbor: -
“valid_lifetime": 122000

“interface": "Ethernet20",
“neighbors":

1.
“ra_retrans_interval': 876000,
nipt: "1i:1v, “rdnss": [
“link_layer_address

"address®: "1:1::1:1,
“valid_lifetine": 880000

a prefixes: [
{ 1
preferred Lifetines: 2700, "reachable_tine": 975,
refix' 11 "router_preference’: "high",
Bl iretinet 300060 "suppress’: false “dad": "disable’
) 3 “interface": "Ethernet24”
1 .
dad": "disable”, {
interfacy ad": "disable
3 nterface”: "Ethernet28”
1 )
"dad": “disable", {
"interface": "Ethernet2s" “dad": "disable’
b 3 “interface": "Ethernet32"
{ .
nterface”: "Vianl®,
neighbors*: [ Ethernet32" isable
nterface”: "Ethernet3s”
ipts Mgt
“Unk Tayer sddress: “AN:B15C2:00:E45FS"
"Ethernet36" “dad": "disable’
“interface": "Ethernetd0”
b
ble*, {
Ethernetdo” ad: “disable",
nterface”: "Ethernetdd”
“disable",
"interface": "Ethernetaa” i disanter
. ce: "Ethernetds”
X ble*,
) Ethernetdg : disable’,
1 erface’: "Ethernets2”
)
1 : tet, €
“state": "replaced” "interface”: "Ethernets2" “dad": "disable
3 “interface": "Ethernetse"
1 b
ble*, {
Ethernetss” “dad": *disable*,
“interface": "Ethernet60”
b
. i
"interface": "Ethernet6o” “dag": "disable”,
3 “interface": "Ethernet64"
b
ble*, {
Ethernetsd” ad": “disable*,
3 interface": “Ethernet6s”
b
. “disable", €
"interface": "Ethernet6s" “dad": "disable
3 “interface": "Ethernet72"
1 b
dad”: "disable”, {
interface: "Ethernet72" ad: “disable",
i interface": “Ethernet76"
1 b
"dad" ble, €
"interface": "Ethernet76" “dad": "disable’
3 “interface": "Ethernetgo”
1 b
. {
Ethernetgo” ad ler,
i ntertaces: ethernetas-
1 b
. i
"interface": "Ethernet8a” *dad": disable”,
. nterface: "Ethernetgg"
b
{
ad": "disable
i “interface": "Etherneto2”
b
. “disable", €
"interface": "Ethernet92" “dad": "disable
. “interface": "Ethernet9e"
)
{
“dad": “disable*,
3 “interface": "Ethernet100"

"dad": "disable" {
"interface": "Ethernet100" *dad": "disable”

nterface”: "Ethernet104”

“disable”

fad" .
“interface": "Ethernet108"
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Testcase Module
name Status User Input Commands Before After exception
3
. “disable",
“interface": "Ethernet108" “dad": "disable
b “interface": "Ethernet112"
"dad": “disable",
“interface": "Ethernet1l6" “dad": "disable
b “interface": "Ethernet120"
b
"dad": "disable", {
interface: "Ethernet12« isable
. nterface”: "Ethernet124"
3
"dad": “disable", {
“interface": "Ethernet124" “dad": "disable
3 “interface": "Ethernet128"
b
{
ad": "disable
. nterface”: "Ethernet129"
3.
“dad”: “disable", {
“interface": "Ethernet129" “dad": "disable",
1 “interface’: "Managenento”,
eighbors”: [
“fe80: :e6f0:47f: fede:5b5"
}
1
3
{
*ady_interval option’: true,
ad”: "disable_ipy6_on_failure’,
erval_option*: true,
“disable_ipv6_on_failure",
i 43
"name”: "123.con",
"valid lifetine: 57643 “nane”: "xyz.con",
b “valid lifetine": 2000
{ }
ame*: “xyz.con”,
"valid lifetine": 2000 ome_agent_config"
one_agent_Lifetin
1 “home_agent preference-u 14,
“home_agent_config": false,
"home_agent_Lifetine": 4000,
"home_agent_preference”: 14,
interface™: "Vianl",
interval
Lifetime*: 4800,
"nanaged_config": false,
“nin_ra_interval®: 125,
“min_ra_interval msec': 13200,
6
t
“ipt: 1::27,
“Uink layer_address 1ag"
wpr 2102,
"Link layer address": "A2:B3:C4:C5:06:4E"
im0 sutocontig": true,
of f Tink"
"preferred \1feume" 1900,
prefix” 22,
Pouter sddres e,
“valid_lifetin  Soo060
true, {
“valid lifetine": 200000 im0 sutocontig’: true,
b “prefix" 5/5"
1 »
a_retrans interval’: 899060,
00, .
“address”: *2:2::2:2",
“valid lifetine": 303030 Vel Lifetine:: 760000
3 b
{
ra_retrans interval™: 899000, address”: "7:7::7:7",
"rdnss”: [ valid lifetine": 3800
}
"address”: “2:2::2:2", 1
"valid lifetine: 760000 “reachable_tine": 800,
. “router preference: “low",
“suppress”: false
"addre b
"valid_ Titetine:: ba0boc0 {
isable
1 nterface”: "Vian2*
"reachable_tine": 800, )
“router preference”: “low", 1,
"suppress’: false “ipv4_arp_timeout"
1 “ipv4_drop_neighbor aging_tine": 654,
“ipv6_drop_neighbor_aging_time": 587,
"dag”: bler, ipv6_nd_cache_expiry”: 140,
“interface": "Vlan2" “nun_local_neigh': 555
}
1,
"ipva_arp_timeout": 132,
“ipv4_drop_neighbor aging_time": 654,
"1pv6_drop_neighbor aging tine": 587,
*ipv6_nd_cache_expiry”: 140
“nun_Tocal_neigh": 555
Tnput: { Comnands: [1 Before: { After: "Not defined" Error: "No Error”
testcase 03.2 Passed “intf_ipve neighbors*: [ “intf ipve neighbors*: [
< <
"interface": "Ethernet20", "dad": "disable",
"neighbors”: [ "interface": "Ethernet0”
1 .
“ipt: 1::1%,
“Uink_layer_address*: "D1:E2:83:C4:AR:44"
1 .
“ra_prefixes': [
"dad": "disable”
“preferrea Lifetiner: 2700, "interface": "Ethernets"
prefix': 5 .
atid i Uitetine:: 300000
¥
1
"rdnss®: [ .
"address”: "1:1::1:17,
"valid_lifetine: 85000
b .
1
+
{
“interface’: "Vianl",
“neighbors”: [
1 "name”: “abc. con"
T nalid Uifetine": 2200
"Link layer address”: "AA:B1:C2:0D:E4:FS"
1,
home_agent_config": false,
ra prefixes': [ “home_agent_lifetine": 3300,
< "hone_agent_preference’: 144,
"no_autoconfig": true, : "Ethernet20",
"prefix": '5:5::5:5/5" 1760,
managed_confi
min_ra_interval®: 130,
a_interval msec’: 12500,
addr 17207277, 770,
"valid lifetine: 3800 “neighbors*: [
1 wpr: 111,
3 "Link layer_address” aa
1 ¥

1.
other_config": false,
“ra_fast_retrans’: false,
“ra_hop_linit": 168,
"ra_interval msec: 170000,
“ra_prefixes': [

1

referred lifetine': 2700,

11
“valid_lifetine": 300000

1
"ra_retrans_interval": 876000,
L

dd "1:1::1:17,
“valid_lifetine": 85000

1

“reachable_time": 975
“router_preference": "high",
"suppress’: false

"disable’,
"interface": "Ethernet28"

"dad": "disable"
"interface": "Ethernet36"
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name Status User Input Commands Before After exception

disable",
“interface": "Ethernetdd”

"dad": "disable’,
“interface": "Ethernet52"

"dad": "disable
interfac

"dad": "disable’,
“interface": "Ethernet6o"

"dad": "disable’,
“interface": "Ethernet6s"

“dad": “disable’,
“interface": "Ethernet76"

"dad": "disable’,
“interface": "Ethernet8o”

“dad": “disable’,
“interface": "Ethernetgd”

: "disable’,
“interface": "Ethernet8s”

“dad": “disable’,
“interface": "Ethernet92"

"dad": "disable’,
“interface": "Ethernet96"

“dad": “disable’,
“interface": "Ethernet100"

"dad": "disable’,
"interface": "Ethernet104"

“dad": “disable’,
“interface": "Ethernet108"

"dad": "disabl
“interfac

Ethernet112"

“dad": "disable’,
“interface": "Ethernet116"

Ethernet120"

“dad": “disable’,
"interface": "Ethernet124”

1

{

+

{
“dad": "disable’,
"interface": "Ethernet129"

1

{

1
{
“dad”; “disable_ipv6_on_failure",
“dnssi®s [
“name”: "123.con",
"valid_lifetime": 57643
i
{
ame*: *xyz. con"
“valid_lifetime": 2000
1
"home_agent_config": false,
“home_agent_lifetine": 4000,
“home_agent_preference": 14,

: "Vianl",

999,

4800,
"nanaged_config: false,
“min_ra_interval’: 125,
“min_ra_interval msec": 13200,
“mtu”: 826,

“neighbors*: [
{
pri 12t
ink layer_addres
1.
1
wiprs v21:2%,
“link_layer_addres
1.
other_config”: fa
“ra_fast_retrans’: faise,
“ra_hop_Uinit": 154,
“ra_interval msec”: 195000,
“ra_prefixes': [
1
0_autoconfig": true,
#F_Lin
re
“prefix :
“router_address*: true,
"valid_lifetine": 200000
1
1
0_autoconfig": true,
prefix": "5:5::5:5/5"
¥
1
"fa_retrans_interval®: 899000,
“rdnss’: [
"address®: "2:2::2:2",
alid_lifetine’: 760000
+
{
“address®: “7:7::7:7",
"valid lifetine': 3800
1
reachable_time": 800
router_preference": “loy
suppress”: false
+
{

disable”,
"interface”: "Vlan2"

1
“ipva_arp_timeout": 132,
“ipv4_drop_neighbor_aging_time": 654,
“ipv6_drop_neighbor_aging_time": 587,
“ipv6_nd_cache_expiry": 140,
“nun_Tocal_neigh": 555

)
. Input: { Commands: [ Before: { Atter: { Error: "No Error®
test_case 04.1 | Passed ntf_ipv6_neighbors: [ “intf_ipv6_neighbors”: [ intf_ipvé_neighbors™: [
€ “intf_ipus neighbors®: [ <
ady_interval_option": true, « “dad: "disable", : “gisabler,
jad™: "enable”, nterval option: false, “interface’: "Etherneto” interface’: *Etherneto”
“hame_agent_Lifetine": 8000, l . b
“interface’s “Ethernet2o” 1 1
1 nane": *abc. con", “dad: "disable” “dad": “disable”,
« valid lifetine: 2200 “interface’: "Ethernetd” “interface": "Ethernets"
} + 1
{
one_agent_config": false, “dad: “disable", ag": “disable:
. one_agent ifetine’: 3300, “interface": "Ethernets” nterface’: “Ethernets”
“suppress”: true hone_agent preference”: 144, I3 b
3 “interface": "Ethernet20", 1
1 “dag®: "disable", “dad": disabler,
) “interface®: “Ethernet12" “interface": "Ethernet12”
. }
{
“dad*: “disable”, “dad": “disable”,
“interface": "Ethernetls “interface": "Ethernetls”
. 3
€ t
iprs 11, “adv_interval_option: false, *adv_interval option’: true,
Uink layer address: "DL:E2:B3:C4:AA:44" - . *dad": "enable’,
} : 8000,
1. 1{
ther_config": false, “name*: *abc.con’ )
“ra fast retrans”: faise, “valid Uifetine": 2200 {
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“ra_hop_limit": 168,
“ra_interval msec’: 170000,
“ra_prefixes': [

prefer
refix
valid | Uitetines: 360060

d_Litetiner: 270,
11"

}

1,
“ra_retrans_interval®

876000,
“rdnss:
4

address: "1:1:
valid_lifetine":

11,
85000

}
1
reachable_t 975,
“router_preference”: "high”,
“suppress”: false

i
{
“adv_interval_option": tru

sd “aisale. ipve on foilure:
“dnssi: [
{
“nane”: "123, c
“alid tifetinet: 57643
3
t

name”: "xyz.con",
valid_lifetine": 2000
1

“hone_agent_config": false,
“hone_agent_Lifetime": 4000,
“hone_agent_preference": 14,

ra_. 125
“min ra interval msec": 13200,
“mtu”: 826
“neighbors*: [

[

“ipts 212",
“link_layer address": "A2:83:(4:C5:06:4

1
“other_config": false,
faise,

: true,
5:15:5/5"
899000,

rans_interval":
[

“address": "
“valid lifetine":

2",
760000
7

3800

valid lifetime":

1
“reachable tine": 800,
“router preference”: "low",
“suppress”: false

1
“state”: “"deleted"

“intf_ipvé neighbors": [
1

dv_interval option': true,

ad
one. agant 11 fetine 0,
et Hnemetzer

“interface”: "Vianl",
1008,

1.
“state": “replaced"

ipt: 1227,
Uink layer address*: *AA:B1:C2:DD:E4:F5"

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Before

}

1,

“home_agent_config": false,

“home_agent_Lifetine": 3300,
eference’: 144,

Ethernet 26’

66
“nanaged_config": false,
“min_ra_interval®: 130,
“min_ra_interval msec': 12500,
"mtu: 770,
"neighbors®: [

{

1,
sother_contig®: felse,
s': false,

"ra nopﬁl)m)(". 168,
sec”: 170000,
[

“ra_prefixes”
{
“preferred tifetine:: 2760,

waua Uifetine': 300000

1
ra_retrans_interval™: 876000,
ranss®:

i1

ress ,
“valid_lifetine’: 85000

I

"reachable_tine": 975
router_preference”: "high",
"suppress

“dad": “disable’,
“interface": "Ethernet24”

: "disable’,
“interface": "Ethernet28”

“dad": “disable’,
“interface": "Ethernet32"

"dad": "disable’,
“interface": "Ethernet36"

“dad": “disable’,
“interface": "Ethernetdo”

"dad": "disable’,
“interface": "Ethernetdd”

“dad": “disable’,
"interface": "Ethernetds”

"disabl
“interfac

Ethernets2"

“dad": "disable’,
"interface": "Ethernetss"

Ethernet60”

“dad": “disable"
"interface": "Ethernet64”

"dad" ble',
"interface": "Ethernet72"

dad": "disabl
interfac

Ethernet76"

ble",
"interface": "Ethernet8o"

vgad: disable’
"interface": "Ethernet3s®
i
{
3o
{
"dad”: "disable”,
"interface": "Ethernet9s’
i
{
dad”: "disabl
interfacy
3o
{

“dad": "disable’,
"interface": "Ethernet104"

ble",
Ethernet116"

"disable",
"interface": "Ethernet120"

ble",
Ethernet124"

: ble',
"interface": "Ethernet128"

: "disable’,
interface”: "Ethernet129"

"disable’,
“interface": "Management0”,
“neighbors

€60:47f: fede:5bs"

"adv_interval_option": tru
wGad® "disable 1oV on fasture"
"dnssU": [

“name* "
“valid_| Uiterinen 5763

“name”: "xyz.
"valid_| Liretiner: 2000

1,
home_agent_confi
“home agent Ui fetine": aona,
“home_agent_preference": 14,
“interface”: "Vianl",

25,
13200,

826,
“neighbors®: [
{

ipt: 1ii2e

“link layer address":

‘AA:B1:C2:DD:EA:FS"

vip': 12127,
"link layer address": "A2:B3:C4:C5:06:4E"

1

"other_config": false,
“ra_fast_retrans": false,
ra_hop_limit":
ra_interval_msec”
“ra_prefixes*: [

"195000,

mo_sutacenfig-: true,

"off_Link":

"preferred Ufenme“ 1000,
g 2:2/2%,

- true,
“valid_lifetime": 200000

mo_sutacontig:
wprefixt: 5:5:

true,
15/5h

After

“dad"; "disable”,
“interface": "Ethernet24"

“dad": "disable

“interface": "Ethernet2s”
1
{

ad: “disable",
“interface": "Ethernet32"
“dad": "disable’,
“interface": "Ethernet36"

3
{

d; “disable”,
“interface": "Ethernetdo”
“dad": "disable:
“interface": "Ethernetds”

3
{
“dad": "disable”,
“interface": "Ethernetdg”
I3
€

ad": "disable",

interface": "Ethernets2"
1
{
ad": "disable”,
“interface": "Ethernets6"
I3
€
ad": "disable",
nterface”: "Ethernet6o”
Y
{
“dad"; *disable:
“interface": "Ethernet6d”
I3
t
ad": "disable",
nterface”: "Ethernet6s"
}
{
“dad": "disable”,
“interface": "Ethernet72"
I3
t
ad": "disable",
nterface’: "Ethernet7"
3
{

ad": "disable”,

“interface": "Ethernet8o"
I3
€
ad": "disable
nterface”: "Ethernetsd"
3
{
“dad"; *disable:
“interface": "Ethernet8s"
I3
t
ad": "disable
nterface”: "Etherneto2"
}
{
“dad"; *disable:
“interface": "Ethernetds"
I3
t
ad": "disable”
nterface’: "Ethernet100"
}
{
“dad"; *disable*
“interface": "Ethernet104"
I3
t
ad": "disable",
nterface”: "Ethernet108"
T
{
“dad"; "disable*,
“interface": "Ethernet112"
I3
€
ad": "disable",
nterface’: "Ethernetils"
Y
{
“dad": "disable”,
“interface": "Ethernet120"
I3
€
ad": "disable",
nterface”: "Ethernet124"
Y
{
“dad"; "disable*,
“interface": "Ethernet128"
I3
€
ad": "disable",
interface": "Ethernet129"
Y
{
“dad": "disable”,
“interface": "Management0”,
“neighbors”: [
"ip": "fe80::e610:4ff: fede:5bs"
)
g
€

“dad": "disable
“interface": "Vianl",

“dad": “disable”,
“interface": "Vian2"

ipvd_arp_timeout”: 132,
ipvd_drop_neighbor_aging_tim

“num_local_neigh": 555

Module
exception
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Testcase
name

test_case_04.2

test_case_05.1

10 of 19

Status

Passed

Passed

User Input

Tnp

g
ntf_ipvé_neighbors": [

"adv_interval option”: true,
“dad”: “enable”,
“home_agent_lifetine": 8000,
“interface': 'Ethernet2e"

1
{

_fast_ ue,
“router_preference": "high*,
"suppress”

]
¥
Input: {

*ipvd_drop_neighbor_aging_time": 800,
*ipvé_drop_neighbor aging time": 900

Commands: []

Commands: [

Commands

“intf ipvé_neighbors": [
1

ad™:

adv_interval option”: true,
d": "enable”

ome_agen
nterface

fetine
e

: 8000,
thernet2(

Bef

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Module
Before After exception
¥
1
“ra_retrans_interval®: 899000,
"rdnss®: [
1
1:2:27,
alid_lifetine: 760000
+
{
“address®: "7:7::7:7",
“valid_lifetine": 3800
3

]

reachable_time":
router_preference
“suppress®: false

08

“dad" pler,
"interface”: "Vlan2"

“disable

1,
“ipva_arp_timeout": 132,
“ipv4_drop_neighbor_aging_time": 654,
“ipv6_drop_neighbor aging time": 587,
"ipv6_nd_cache_expiry”: 140,
“nun_Tocal_neigh": 555

After: "Not defined" Error: "No Error”

ore: {
“intf_ipvé_neighbors": [

d": “disable’,
“interface": "Ethernetd”

"dad": "disable’,
"interface": "Ethernetd”

“dad”: *disable”,
"interface”: "Ethernets”
b
“dag” ble,
"interface": "Ethernet12”
“dad”: *disable”,
“interface”: "Ethernet16®
b
1
"adv_interval option”: true,
nable”,
fetine": 8000,
Ethernet20”
3
{

“dad": ble',
"interface": "Ethernet24”

vdad": .
"interface": "Ethernet32"
“dad": "disabl

"interface": "Ethernet36"

“dad": "disable’,
"interface": "Ethernetdo”

: "disable’,
“interface": "Ethernetdd”

“dad" ; e,
“interface": 'Ethernetds"

“dad": "disable’,
“interface": "Ethernets2"

"dag”
"interface": "Ethernetse"

“dad": "disable’,
“interface": "Ethernet60”

"dad": "disable’,
"interface": "Ethernet64”

dad": “disabl
interface

Ethernet6s”

"dad": "disable’,
"interface": "Ethernet72"

"interface": "Ethernet76"

~dad®
"interface": "Ethernet8o"

“disabl

dad .
“interface": "Ethernetga”

"dag” ble',
"interface": "Ethernetss"

“disal

“disabl

"dad": "disable’,
"interface": "Ethernet96"

"dad": "disable’,
Ethernet12(

"dad": "disable’,
"interface": "Ethernet128"

“dad": "disable’,
“interface": "Ethernet129"

"dad": "disable’,
“interface": "Management0”,

::e6f0:41f: fede:5bs"

router_preference":
“suppress’: true

isable’,
: "Vian2®

v4_arp_timeout*: 132,

“ipv4_drop neighbor aging time’: 654,
"ipv6_drop_neighbor aging time: 587,
"ipv6_nd_cache expiry": 148,
“nun_tocal_neigh": 555

ore: { After: { Error: “No Error
“intf_ipv6_neighbors®: [ “intf_ipvé_neighbors*: [
{ €

"dad": "disable’, “dad": "disable”,
"interface": "Etherneto” “interface": "Ethernetd”
. b
{
dad”: “disable”, ad": *disable
“interface": "Ethernetd” nterface": "Ethernetd”

9/13/24, 15:45
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Testcase Module
name Status User Input Commands Before After exception
{ + 3
“interface": *Vlanl*,
"dad": “disable", “dad": "disable”,
“ra_fast_retrans® "interface": "Ethernets” “interface": 'Ethernets"

e,
preference”: "high",
: true 1{

Ethernet12"

1
“ipvd_arp_tineout': 132, 3
“ipv4_drop_neighbor aging time": 654, {
"ipv6_drop_neighbor_aging time": 587, "dad": “"disable", “dad": "disable",
*1pv_nd_cache_expiry": 149, “interface": "Ethernetls" “interface": "Ethernetl6"
“nun_local_neigh': 555, % 3,
"state": "deleted' {
} adv_interval_option": true, jisable
{ dad”: “enal nterface": "Ethernet20"
“ipv4_drop_neighbor aging time": 800, “home_agent_lifetime*: 8009, }
“ipv6_drop_neighbor_aging time": 900, "interface": "Ethernet20"
“state”: “replaced” 3 “dag": "disable”,
¥ 1 “interface": "Ethernet24"
] "dad": "disable", .
"interface": "Ethernet24" {
. ad: “disable
nterface": "Ethernet28"
"dad": “"disable", 3.
“interface”: "Ethernet2s" s
. “dad": "disable”,
“interface": "Ethernet32"
“dad": "disable", .
"interface": "Ethernet32" {
. isable
nterface": "Ethernet36"
"dad": ble", 3
“interface’: "Ethernet3s" 3
3 “dag": "disable”,
“interface": "Ethernetdo”
"dad" able", g
"interface": "Ethernetd@" {
. ad": "disable’,
nterface": "Ethernetdd”
"dad": “"disable", 3
“interface”: "Ethernetdd” 3
3 “dag": "disable”,
“interface": "Ethernetds"
" "disable", g
: "Ethernetds”
. ble”,
“Ethernet52"
"dad": “"disable",
“interface”: "Ethernets2" 3
. “dad": "disable”,
“interface": "Ethernetse"
"dad": "disable", .
"interfac Ethernet56" {
. lad": "disable”,
nterface": "Ethernet60"
"dad" ble”, 3
“interface’: "Ethernet6o” 3
|3 “dag": "disable”,
“interface": "Ethernet6s”
"dad": "disable", .
"interfac Ethernet64"
. lad": "disable”,
interface": "Ethernet68"”
"dad disable", 3
“interface”: "Ethernet6" 3
3 “dag": "disable",
“interface": "Ethernet72"
b
t
. “dad": "disable”,
“interface": "Ethernet76"
3
3
. "dad": "disable",
“interface": "Ethernetgo”
b
t
. : "disable",
interface": "Ethernet84"
le", 3
"interface": "Ethernetsa" 3
3 “dad": "disable”,
“interface": "Ethernetss"
"dad": "disable .
interface
"dad": “"disable",
"interface": "Ethernet92"
3 “dad": "disable”,
“interface": "Ethernetge"
"dad": “"disable",
"interface": "Ethernet100" 3
3 “dad": "disable”,
“interface": "Ethernet104"
"dad": “"disable",
"interface": "Ethernet108" 3
3 “dad": "disable”,
“interface": "Ethernet112"
"dad": ble", g
"interface": "Ethernetl12"
. isable
nterface”: "Ethernetlls”
"dad": “"disable", 3.
"interface": "Ethernet116"
3 “dad": "disable”,
“interface": "Ethernet12e”
"dad": "disable", .
"interface": "Ethernet120" {
. lad' isable'
nterface”: "Ethernet124"
"dad": “"disable", 3.
"interface": "Ethernet124" s
3 “dad": "disable”,
“interface": "Ethernet128"
"dad": "disable", g
"interface": "Ethernet128" {
. - ble'
“interface": "Ethernet129"
"dad": “"disable", 3.
"interface": "Ethernet129" 3
3 “dad": "disable”,
1 “interface": "Managenento
le", “neighbors”: [
Wanagenento”,
“ip": "fe80::e6f0:4ff:fede:5b5"
"ipt: €610:4ff: fede:5bs"
i
!
|3
1
Vian”,
. “dad’ isable'
s': true, “interface”: "Vian2*
"router preference’: "high",
"suppress”: true .
3 “ipva_arp_timeout': 132,
{ ipv4_drop_neighbor_aging tim
dad": “"disable",
interface”: “Vlan2* ipv6_nd_cache_expi 140,
} num_local_neigh
1 ¥
"ipya_arp_timeout": 132,
*ipué_drop_neighbor_aging_tine’: 654,
. ng_tine": 587,
“1pv6 o,
“num_local_neigl
¥
as: Input: { Commands: [] Before: { After: "Not defined" Error: “No Error®
test_case_05.2  Passed V1pv4_drop_neighbor aging tine": 800, "intf_ipvé_neighbors: [

"ipvé_drop_neighbor_aging_time": 900
¥

jad": "disable",
“interface": "Ethernetd”

e,
Ethernet16”

“dad"

: “disable"
“interface"

"Ethernet20"

“dad”: ble",
"interface": "Ethernet24”

“dad

i "disable’,
“interface": "Ethernet28"

"dad

disable",
"interface": "Ethernet32"

"dad": "disable’,
“interface": "Ethernet36"

"dad": "disable’,
"interface": "Ethernetdo”

"dad": "disable’,

11 of 19 9/13/24, 15:45
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Testcase

name Status

test_case_06.1 Passed ~ Input

s {
"intf 3
1

User Input

ipv6_neighbors": [

adv_interval option”: true,

da na
“dnssU": [
{

“name”: "abc.con”,
"valid_lifetine": 1008

name”: “dell. co
“valid_lifetine": 2000

1,
"home_agent_config"
"home_agent_Lifetine"

true,

500,
"nanaged_config": true,
“min_ra_interval®: 110,
"min_ra_interval_msec"
wtu”: 725,
neighbors*: [

{

12000,

“AL:BA:C5:C1:0D:3E"

"FL:E4:DS:C1:BB:3A"

“ra prefixes®: [

“no_autocontig": true,

off_Link":

preferred \lfetlme : 1800,
prefix 1

Ponen addressts true,
“valid_lifetine"

100000

2/2
200000
1

“ra retrans_interval: 800000,
“rdnss"s [

ress™: "1:1::1:17,
\lxlm Lifetine": 750008

"address”: "2:2112:2",
“valid_lifetine’: 660000

suppress’

sinterface:: “Ethernetze”,

“interval’: 100

"min_ra_ meml msec': 13000
true,

adv_interval_option”
dad

dnssit: [
{

“name”: "xyz.con",
"valid lifetine": 2008

name”: “dell. co
“valid_lifetine’: 3000

1
"hone agent_config"
"hone agent_Lifetine”
hone_agent_preference": 13,
interface” 1
interval
Lifetine
“manased-configt: true,

true,

Commands: [
{

“state":

“intf

ipvd_:

Commands

arp_timeout

“deleted”

- ipv6_neighbors®: [

“adv_interval_option
“dad": “enable’,

name" : "abc
Valid Uifetines: 1060

nan fell. con",
valid_lifetine": 2000

ther_config”: true,

“ra_fast_retrans": true,
“ra_hop_limit": 148,
“ra_interval_msec":
i [

186000,

no_autoconfig
off_Link'

3
¢
22",
"+ 200000
)
1
“Fa_retrans_interval’: 80000,
“rdnss”: [

1:
valid_lifetine": 750000

3
{
ress': "2:2::2:2",
“valid_lifetine": 660000
}

eachable_tine
outer preference
“suppress”:

“interface": "Ethernet24",

“interval: 1000,

“min_ra_interval msec”: 13000
true,

“adv_interval_option
“dad": “enable’,

naner  delL con,
valid lifetine": 3000

nan ~con”,
valid lifetine": 2000

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Before

Before

“interface": "Ethernetdd”

"dad": "disable"
"interface": "Ethernetds®
“dad”

"disable’,
“interface": "Ethernet52”

"dad": "disable"

"interface": "Ethernets6"
"dad”: disable”,
“interface": "Ethernet60"

"dad”:
"interface”:

“disable”
"Ethernet6a®

Ethernet6s”

"dad": "disable’,
"interface": "Ethernet72"

Ethernet76"

~dad®
"interfac

“disable’,
"Ethernet9s"

e,
Ethernet108"

ble",
Ethernet112"

dad”: "d.
“interface": "Ethernet116"
"dad": "disable"

"interface": "Ethernet120"

e,
Ethernet124"

"dad": "disable’,
"interface": "Ethernet128"

“dad” ble',
vinterfacer: "Ethernet1ze"
1
{
"dad": "disable
: "Manxgemenm“
[
"ip ::e6f0:47f: fede:5bs"
}
1
1
{
Vian1"
“dad": “disable’,
“interface": "Vlan2"

1

"ipva_arp_tineout": 132,
*ipv4_drop_neighbor_aging_time": 800,
“ipv6_drop_neighbor_aging_time": 900,
“ipv6_nd_cache_expiry": 140,
“nun_Tocal_neigh": 555

i {

“intf_ipv6_neighbors": [
dad”: “disabl

“interface

Etherneto”

~dad®
"interface”:

“disal

ble',
"Ethernetd”

~dad®
"interface”:

“disable”
"Ethernet12®

dad”: "d.
“interfac

"dad": "disable

"interface": "Ethernet36"

"dad": "disable
"interface’

Ethernetaa”

“dad": "disal
“interface":

ble",
Ethernetdg”

"dad": "disabl

e
"interface": "Ethernet52®

d*: “disable’,
“interface": "Ethernets6"

"dad”:
"interface”:

“disable"
"Ethernet6o”

“dad": "disab]
“interface":

ethernetes-

"dad": "disable"
"interface": "Ethernet68"

“dad": "dis;
vinterfacer:

ethernetrz-

o oisable
"intel : "Ethernet76"
“dad": “disable’,
“interface": "Ethernetgo"
"dad": "disable
"interface": "Ethernet8a”
“dad" ble',
“interface": "Ethernet8s"

After: {
“intf_ipvé_neighbors": [
{

Module

After exception

Error: "No Error”

isable
nterface": "Ethernet0"

“dad" :
“interface":

"disable”
"Ethernets®

jad" : *disable
nterface": "Ethernetg"

“dad" :
“interface":

"disable”
"Ethernet12”

jad": *disable
nterface’: 'Ethernetl6"

true,

dv_interval_option"
jad” : "enable”

“name”: "dell.
valid lifetim

ome_agent_config": true,
jome_agent_Lifetine": 2000,
“home_agent_preference”: 12,
“interface": "Ethernet2!

. + 800,

“mtu”s 725,
“neighbors”: [

“ipt: 11"
“Link_layer_address":

13E

:3A

1.
“other_config": true,
t

inosutocantig": true,
off_Link"

"prefened \1feume" 1800,
1:1/1%,

“prefix
“valid_lifetine"

“

200000

rans_interval”: 809000,

address": "2:2::2:2",
valid lifetine": 660000
“reachable_time": 500,
“router preference":
“suppress”: true

jad" : "di
nterface

erval .
“min_ra_interval msec":

ble”,
“Ethernet2:
1

13000

9/13/24, 15:45
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Testcase
name Status User Input
“min_ra_interval: 120,
“min_ra_interval msec": 13000,
“ntu
“neighbors*: [
{
"ip": "2
link layer address
b
1
“ra_prefixes": [
{
inosutocontia®: true,
“off Link": trus
"preferred l)fet)me : 1900,
refis /2"
router_address*: true,
"valid_lifetine®: 200000
“no_autoconfig": false,
"prefix”: "4:4::4:4/4"
}
ra_retrans_interval®: 900000,
rdnss
“address”: "2:2::2:2",
“valid lifetine®: 760000
add| 4:4::4:4",
“valid_lifetime 880000
1.
“reachable_time": 600,
“router_preference”s ‘nediun’,
“suppress”: true
3
1
interface" ‘Vlan2",
inte: 1000,
“min_ra_interval_msec": 11000

1.

“ipua_arp_timeout": 120,
pv4_drop_neighbor : aglng ()me : 400,
pv6_drop_neighbor_ ime”: 600,
pv6_nd_cache expiry B

“num_Tocal neigh": 340

}
test_case 06.2  Passed I

put: {
“intf ipvé neighbors*: [

gy tntervalgption's true,
~dad

13 0f 19

"A2:B3:04:C5:06:4E"

: "B2:A1:F4:ES:FT:4E"

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

After

“dad": "disable
“interface":

"Ethernet2s”

“dad": “disable”,
“interface": "Ethernet3s"

le
“Ethernet40”

jisab
nterface

“dad": "disable

“interface: "Ethernetdd”

le
“Ethernetdg”

jad" : “disab
nterface’

“dad": "disable

“interface": "Ethernets2”

le
“Ethernets6"

jisab
nterface

“dad": “disable”,
“interface": 'Ethernet6e”

jad" : "di
nterface

ble”,
“Ethernet64”

“dad": "disable

“interface: "Ethernet6s”

ble”,
“Ethernet72"

“dad": "disable”
“interface: "Ethernet76"

jad" : "di
nterface

ble”,
“Ethernetg0"

“dad": “disable”,
“interface": "Ethernet84"

ad": “disable”,

interface’: "Ethernet8s"
“dad": “disable"
“interface": "Ethernetg2”
ad": “disable”,
interface: "Ethernet9s"
“dad": “disable”
“interface": 'Ethernet100"
sable”,
interfacer: “Ethernet10a®
“dad": "disable”
“interface": 'Ethernet108"
jad" le
ertacts,  Eeherneciiz:
“dad": "disable”
“interface": 'Ethernetl16"
": “disable”,
nterface’: *Ethernet120”
“dad": "disable”
“interface": 'Ethernet124"
able”,
nterface’: *Ethernet128"
“dad": "disable”
“interface": 'Ethernet120"
ad le
nterface”: “Managemento’
“neighbors": [

“ip": "fe80::e60:4ff: fede:5hs"

Jady interval option
“dad®
“dnssl

“name”: "dell.con",
“valid_lifetine": 300

“name": "xyz.com
“valid lifetine"

“lifetine": 4600,

H4E"

“other_config"
“ra_fast_retrans": true,
“ra_hop_Timit": 150,
“ra interval msec’:
“ra_prefixes”

"196000,

no_autoconfig
off Tink": true,
preferred lifetine’: 1900,
“prefix': "2 2/2"
“router_address®: true,
“valid lifetine": 200060

no_autoconfig
refix': "4:

“Fa_retrans_interval®: 900000,
“rdnss”

valid_lifetin

“address": "4
*valid lifetine"

“dad": "disable”,
"Vian2",

arp_timeout": 120

“ipv4_drop neighbor aging time": 400,
“ipv6_drop_neighbor aging time": 600,
“ipv6_nd_cache_expiry": 200,
“nun_local neigh": 340

Commands Before
} + 3
1 {
“hone_agent_config": true, "dad": “disable",
3000, "interface": "Etherneto2"
. 3 .
{
Ethernetos"
managed_config 3
“min_ra_interval’: 120, {
“min ra interval msec": 13000, "dad": “disable",
“mtu’: 825, "interface": "Ethernet100"
“neighbors®: [ 3 I3
[ {
ip: v2::2",
Uink_layer_address
3 o 3
{
wiprs 133, “dad®; *disable”,
“Uink layer address": "B2:A "interface": "Ethernet108"
3 .
{ {
ther_config”: true, “disabl
a_fast_retrans”: true,
hop_Uinit": 15 3 )
“ra_interval msec”: 196060, {
“ra_prefixes': [ "dad": "disable",
[ "interface": "Ethernet116"
no_autocontiy”: true, 1 1
{
3
{
h e,
< "interface": "Ethernet124"
no_autoconfig": false, 1 3
prefix': "4:4::4:4/4" {
3o 3
{ {
“disable",
"interface": "Ethernet129"
3 .
{
le”,
Hanagenent
1, "ip": "fe80::e6f0:4ff: fede:5bs"
“reachable_tine": 608,
outer_preference”: "mediun”, ) .
“suppres ¥, t
}
{
nterface': Vianz”, )
“interv . {
“nin ra interval msec: 11000
¥
*ipva_arp_tineou :
ipv4_drop_neighbor_aging_tin 1
ipv6_drop_neighbor_aging tine v o timeoutr: 132
ipv6 nd_cache_expiry”: 200, 4_drop_neighbor_aging_tine »
“nun_local neigh": 340, “iPve drop nesghbor sging tine {
“state": “overridden" "ipv6_nd_cache expiry": 140,
} “nun_local_neigh": 555
1 3 b
{
2
b
{
2
2
b
{
2
b
{
2
8
}
1
“ipvd
¥
Comnands: [1 Before After:

i 4
“intf ipvé neighbors: [

"dad": "disable"
"interface”:

"Etherneto”

Not defined"

e;

Error

Module
xception

“No Error*

9/13/24, 15:45
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Testcase
name Status User In)

name*: “dell. con'
“valid_lifetine

home_agent_confi
home_agent ottt

put Commands
": 2000

"jot0,
12,

"nanaged_config": true,
"min_ra_interval": 116

meu”: 725,
neighbors”: [

g

“Uink layer_address

1
“other_config": true,

a_interval msec’: 12000,

“Tink layer_address”: *AL:B4:C5:CLiDD:3€"

"FL:E4:DS:C1:BB:3A"

"ra fast_retrans: true,

“ra_hop_limit": 148,

ra_prefixes': [

o autocontig
of _link

4
ra_interval msec": 180000,

true,

"preferred_ menme“ mo,

“prefix"

. rou!erﬁaddress“

true,

"valid_lifetine": 100909

1
ra_retrans interval
[

DLl
va\m Tifetin

“address®: "2:2:
"valid_lifetine”

"interface": "Ethernet:
interval”: 1000
min_ra interval msec’

adv_interval_option*

. “enable

“dnssU"s [
{

name”: “xyz.con
valid_ lifetine®

800000,

117,
750000

2:2%,
660000

247,

: 13000

true,

2000

“name”: “dell.con”,
“valid_lifetine': 3000

home_agent_confi
home_agent | Totetiner:

3mm

“nanaged_config": true,

"nin ra interval’: 120
a_interval msec’

ey 825,

neighbors*: [

g

“Uink layer address

1
“other config": true,

¢ 13000,

“Tink layer address”: *A2:B3:C4:C5:06:4€"

"B2:A1:F4:E5:FT:4E"

“ra_fast_retrans': true,

“ra_hop_limit": 150,

"ra_interval_msec": 190000,

"ra_prefixes': [

o sutocontig"
“off_Link":

true,

"preferred_ mmme“ 1900,
/2"

“prefix"
. rou!erﬁaddress“
"valid_lifetine"

no_autoconfig"
“prefix': *4:4

1
"ra_retrans_interval:
[

"rdnss"
{
:2:2:
va\m Tifetin
+

“address®: "4:4:
"valid_lifetine”

true,
200000

false,
4/a"

900000,
2:27,
760000

a:an,
880000

"interface”: "Vlan2",
interval”: 1000
min_ra interval msec’:

4_arp_timeout

11080

"ipvd_drop_neighbor aging_time: 400,
*1pv6_drop neighbor_aging tine": 600,
xpir

"ipv6_nd_cache
“nun_tocal_neigh"

340

14 of 19

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Before

“disable’,
“interface": "Ethernets”

“dad": “disable’,
"interface": "Ethernet16"

tion": true,

“name”: “abc.con”,
"valid_lifetine': 1000

ame”: "dell.con",
“valid_lifetine": 2000

1,

“home_agent_config": true

"home_agent_Lifetine": 2000,

“home_agent_preference": 12,
* "Ethernet20",

3

110,
“nin_ra_interval msec": 12000,

“mtu’: 725,
"neighbors®: [
i

1"
“link 1ayer address 136"

wiph: 41547

“Link layer address": "F1:E4:D5:CL:

L3a0

“ra_prefixes': [
"no_autoconfig”: true,

1800,

outer_address”: true,

"prefix': "2 2/2",
"valid_lifetine": 200000
¥
1.
ra_retrans_interval*: 800000,
“rdnss

“address®: "1:
"valid_lifetine

117,
750000

ress®: "2:2::2:2",
“valid_lifetine’: 660000

1
“reachable_time": 500

"router preference": “low",

"suppress’: true
Jzy

“min_ra_interval msec": 13600
i
1

Ethernet2s"

3o
{

"dad”; "disable”,

"interface": "Ethernet32"
i
1

“disabl

3o
{

ble",
"interface": "Ethernetdo”

“dad"
“interface": "Ethernetds”

3o
{
"dad”: "disable”,
"interface": "Ethernets6"
i
{
dad”: "disabl
interfacy
3o
{

“dad": "disable"
"interface": "Ethernet6a”

ble",
Ethernet76"

"disable",
"interface": "Ethernetso’

ble",
Ethernetga”

: ble',
“interface": "Ethernetss"

ble",
Ethernet92"

"interface": "Ethernet96”

ble",
Ethernet100"
+
{
. "disable’,
"interface": "Ethernet104”
1
1{
dad”: "disable",
interface”: "Ethernet108"
+
{
"dad" ble',
"interface": "Ethernet112"
1
1{

Ethernet116"

e,
"interface": "Ethernet120"

"dad” ble',
"interface": "Ethernet128"

"dad": "disable"
"interface": "Management0",

“neighbor:

[
“fed

€670:4ff: fede:5bs"

"adv_interval_option”: true,
dad” ble”,

name”: “dell. c
"walid ifetine : 3000

After

Module
exception

9/13/24, 15:45
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Testcase
name

test_case_07.1

Status User Input

Passed I

i
ntf_ipv6_neighbors*: [
{

“adv_interval option": true,
"dad”: "enable",

“name”: “abc.con”,
“valid_lifetine’: 1000
“name”: “dell.con"

hone_agent_config": true,
home_agent_Lifetine-; 200,

“link layer address": "A1:B4:

vipr: aiiar

1

other config": true,

"ra fast_retrans’: true,

“ra_hop_limit": 148,

"ra interval msec": 180000,

"ra prefixes': [
1

no_autoconfig®
off_Link": true

true,

prefix': "1:1::1:1/1

"alid Tifetine": 100080

"prefix": 12/2"

a_retrans_interval": 800900,
“rdnss": [
{

address”
“vxlm itetine: 730600

“address®: *2:2::2:2"

1
"reachable_time": 500,
"router_preference": “low",
"suppress’: true

nterface”: "Ethernet24”,
“min_ra_interval_msec': 13000

adv_interval_option”: true,
dad able”

mtu”: 825,
neighbors”

wiprs 12

"Link layer address": "A2:B3:

1

“other _config": true,

“ra_fast_retrans': true,

“ra_hop_limit": 150,

sec”: 190000,
[

ra_prefixes’
1

o autaconfig": true,
“off_link": t,

“preferred menme“ 1900,

“router : adtreses true
"valid_lifetine": 200000

“prefi) 14/a"

1
“ra_retrans_interval': 900000,
“rdnss": [

"2:2::2:2%,
valid_Lifetine”: 760000

“address®: "4:4::4:4"

rence”: “mediun’,

true

“interface": "Vlan2"
"nin_ra interval msec": 11000
¥

pvd_arp_timeout”: 120,

*ihve_nd. Cache expiT

“preferred lifetine": 1800,

pv4_drop_neighbor aging time*: 400,
pv6_drop_neighbor_aging time*: 600,

file:///home/shade-talabi/regression-2024-09-13-15-17-02.html

Commands Before
name*:_“x .
walid Uifetine': 2000

I
"home_agent_config": true,
“home_agent_Lifetime": 3(
home_agent_preference’: 13,

“nanaged_config": true,

"min_ra_interval®: 120,

“min_ra_interval_msec": 13000,
mtu”: 82

vip': v2::2%,
"link layer address": "A2:B3:C4:C5:06:4E"

[P

"Uink_layer address”: "B2:AL:F4:E5:FT:4€"

1

“other_config": true,

"ra fast_retrans’: true,

“ra_hop_limit": 150,

“ra_interval msec": 190000,

“ra_prefixes': [
1

o autocontig®

7 Link: true

preferred 1ifetine": 1900,
/2%,

“router _address’: true,
"valid_lifetine’: 200000

1
“ra retrans_interval: 900000,
“rdnss": [

ress": 2:2::2:2",
“valid_lifetime": 760000

. 4

ress's "d:4::4:4",
“valid_lifetine’: 880000

reachable_tine": 608

‘mediun”,

"min_ra_ Jn(ervxl msec': 11000

“ipv4_arp_tim ,
*ibuddrcp.neighbor aging tine": 400,
"ipv6_drop_neighbor aging time": 600,
*1pu6_nd_cache_expiry”:

“nun_tocal_neig

200,

[ Befor

Commands : i {
“intf_ipv6_neighbors
{

“dad”:

“intf_ipvé_neighbors": [
¢ "disable’,
"interface": "Etherneto”

ption": true,

dad”: “disable”,
. interface”: "Ethernetd”

"dad"

ble*,
“name: "dell.con’ “interface": "Ethernets"

ble",
Ethernet12"

“interface": "Ethernet16"

tu”: 725, sady interval option’ true,
“neighbors”: [ “da
“anssit 1
“ipr: 110,

“name”: "abc.con”

“link layer address": "Al:B: .
"valid lifetine": 1088

} “name”: “dell.c
1, "alid Uifetine': 2000
“other config": true,
“ra_fast_retrans": true,
“ra_hop_Limit": 148,
“ra_interval msec': 180000,
refixes": [

1,
"home_agent_config": true,
“home_agent_Lifetine":
eference”:

o autocontig":
off_Lini

00,
“nanaged_config": true,

“prefix: "1 “min_ra_interval': 110,
“router_address" “min_ra_interval msec': 12000,
“valid_lifetine" mtu”: 725,
i "neighbors®: [
{ 1{
prefix* i2:2/2"
}
1,
“ra_retrans_interval’: 800000,
“rdnss": [ "ipt: "a:
{ "link Iayer Address®: "F1:E4:D5:CLiBB:3A"
address”: "1:1: ¥
valid_lifetime":

“address’: "2:

“ra_prefixes:
1

1
“reachable_tine": 500,
outer_preference”: "low",
“suppress”: true

0_autoconfig": true,

“router _address’: true,

“interface": "Ethernet24",

“min_ra_interval msec’: 13000 "valid Tifetine': 100000
b .
€
Jady_interval_option": true, “prefix :2:2/2%,
ad": “enable”, “valid_lifetime": 200000
“dnssl ¥
1
“nane”: "xyz "fa_retrans_interval’: 800000,
“ualia Uifetiner: 2000 "rdnss”: [

b

s

ome_agent_config! “address®: 2:2::2:2",

“hone_agent Lifetime": 3000, “valid_lifetime": 660000
*hone_agent. preferen:e" 13,
1 1
"reachable_time": 500,
router_preference": “low",
“suppress®: true

tu: 825, {

“neighbors*: [ “dad”: "disable",

[t “interface": "Ethernet24",
ipt: 12127, “interval': 1000,
Uink_layer_address": "A2 C5:06:4€" “min_ra_interval msec': 13000

3 3o

{ {

“ipt: *3::3" “dad": "disable",
) "interface": "Ethernet2s"
1 .
“other_config": true, 1
“ra_fast_retrans": true, “dad": "disable"
"interface": "Ethernet32"
“dad": “disable",
“interface": “Ethernet36"
“dad": "disable"
"interface": "Ethernetdo"”
“dad": "disable",
“prefix: "4id:idi4/4" rtertaces Tethernetsa-
1 1
“ra_retrans_interval’: 900000, “dad": "disable"
“rdnss”: [ “interface": 'Ethernetds"
addres - {
valid_lifetine": 760000 “dad": "disable",
) rtertaces Tethernetsz-
“address”: "d4:4::4:4"
o oisable
) "interface": "Ethernetse"
eachable_time": 6 .
outer Dreference “medium®,
“suppress”: “dad": “disable",
b "interface”: "Ethernet6o”
€ .
“interface": "Vian2" 1
*min_ra_interval msec": 11000 “dad": "disable
3 "interface": "Ethernet6a”

ipva_arp timeout": 120, {
*ipvd_drop neighbor_aging_tine": 400, “dad" ble',
“ipv6_drop_neighbor aging time": 600, “interface": "Ethernet68"

After

i
intf_ipv6_neighbors": [

“dad": “disable”
“interface": 'Ethernet@"

b
{
“dad": “disable”,
“interface": "Ethernetd”
3
{
“dad": “disable”
“interface": 'Ethernets"
b
{
sable",
interfacer: “Ethernet12"
3
{
“dad": "disable”,
“interface": "Ethernetls"
b
{

“name": “abc.con"

nterface": "Ethern:
n_ra_interval_mse
_prefixes': [

120"

“prefix': "1:1::1:1/1"

1
“rdnss™: [

‘addres:

3
{
“dad": "disable”,
“interface": "Ethernet24",
nterval”: 1000
+
{
“dad": "disable
“interface: "Ethernet28"
b3
{
“dad": "disable
“interface": "Ethernet32”
+
{
“dad"; "disable”,
“interface": "Ethernet36"
1
{
*dad": "disable”
nterface”: "Ethernetdo”
+
{
ad"; "disable”,
“interface': "Ethernetdd"
1
{
"disable
nterface”: "Ethernetds”
+
{
“dad": "disable
“interface': "Ethernet52"
1
{
jad": "disable
nterface": "Ethernetse”
+
{
“dad": "disable
“interface': "Ethernet6e"
1
{
jad": "disable”
nterface”: "Ethernet6d”
+
{
“dad": “disable”
“interface': "Ethernet6s"
1
{
jad": "disable”,
nterface": "Ethernet72"
+
{
“dad"; "disable”,
“interface': "Ethernet76"
1
{
jad": "disable”,
nterface”: "Ethernetge”
+
{
“dad"; "disable”,
“interface’: "Ethernet8d"
1
{
jad": "disable”,
nterface: "Ethernet8s”
+
{
ad"; "disable”,
“interface’: "Ethernet92"
jad": "disable”,
interface™: “Ethernet9s”

ad"; "disable”,
“interface’: "Ethernet100"

1
{
jad": "disable”,
interface: "Ethernet14"
+
{
“dad": "disable”,
“interface': "Ethernet108"
1
{
jad": "disable”,
interface: "Ethernetl12”
+
{

“dad": "disable”,

12000,

e;

Error

Module
xception

“No Error*

9/13/24, 15:45
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Testcase
name Status User Input
“num_local_neigh": 340
¥
test_case_07.2 Passed ~ Input

:
"intf_ipv6_neighbors": [
{

adv_interval option”: true,
dad”: "ena
dnssUs [

“name”: “abc.con"

"valid_lifetine": 1008

“dell.con"

1
“home_agent_config": true,
“home_agent_Lifetine": 2000,

ip': "1,
Link layer_address:

"AL:B4:CS:CL:DD:3E"

“iprs vasiae

¥

1

"other_config": true,
ra_fast_retrans": true,
ra_hop_Uimit": 1.
ra_interval_msec
ra_prefixes™: [

180600,

"no_autoconfig": true,
"off_link": true,
"preferred lifetime": 1800,
"prefix': "1:1::1:1/17,

router address": true,
valid_lifetine": 100000
+

“prefix": '2:2::2:2/2"

]

ra_retrans interval™: 800000,
rdnss

address 1::1:1%,
“valid_lifetine’: 750000

file:///home/shade-talabi/regression-2024-09-13

Commands Before After
“ipv6_nd_cache_expiry": 200, 3 “interface": "Ethernet116"
“nun_local neigh": 340, .

“state": “deleted” "dad": “disable",
"interface": "Ethernet72" “dad": "disable",
1 . “interface": "Ethernet120"
{ 3
, {
Ethernet76" : ble*,
3o interface”: "Ethernet124”
{ 3.
"dad": “disable", {
"interface": "Ethernet30" “dad": "disable",
b “interface": "Ethernet128"
3
{
+
{
"dad": “disable",
"interface": "Ethernet8s" “dad": "disable",
1 “interface": "Managemente",
1 “neighbors”: [
“disabl [
“ip*: "fe80::e670:4ff: fede:5bs"
3o }
{ 1
. le”, 1
"interface": "Ethernet9s” 1

e, :
"interface": "Ethernet104" “min_ra_interval msec": 13000,
272"
3o 1
“rdnss: [
" “disable",
"interface": "Ethernet112" “address”:
i
{ 1
abl b
{
h “dad": "disable”,
“interface": *Vian2",
"dad": ble*, “interval’: 1000
"interface": "Ethernet120" ¥

ipv4_arp_timeout: 180,
ipv4_drop_neighbor_aging_tin
ipv6_drop_neighbor_aging_tin
ipv6 nd_cache_expiry”: 180,
“num_Tocal neigh": 0

“dad" ; g ¥
“interface": "Ethernet128"
1
{
name*: “dell.con",
alid lifetine®: 3000
1
1
“name”: “xyz.com",
"valid_lifetine": 2000
1
ome_agent_config": true,
“home_agent lifetime": 3000,
“home_agent preference": 13,
“interface’: "Vianl",
“mtu” X
“neighbors®: [
wiprs v21:20,
"Uink_layer address": "A2:B3:C4:C5:06:4€"
“ipts *3::3%,
“Uink layer address": "B2:AL:F4:ES:FT:4E"
1
"other_config": true,
“ra_fast_retrans’: true,
ra_hop_limit": 150,
ra_interval msec*: 190000,
“ra_prefixes*: [
{
“no_autoconfig": true,
"off_link': true,
"preferred lifetine": 1900,
"prefix': 72:2::2:2/2",
outer_address: true,
alid_lifetine”: 200000
+
1
“no_autoconfig": false,
"prefix’: "4:4::4:4/4"
¥
1
ra_retrans_interval*: 900000,
rdnss*: [
“address®: 2:2::2:2",
"valid_lifetine": 760000
“address®: "4:4::4:4",
“valid_lifetine": 880000
1
“reachable_time": 600,
“router_preference": “mediun’,
"suppress’: true
1
{
interval*: 1000,
“min_ra_interval msec*: 11000
1
"ipva_arp_tineout": 120,
*ipv4_drop_neighbor_aging_time": 400,
*ipv6_drop_neighbor_aging_time": 600,
200,
¥
Commands: (1 Bef After: "Not defined" Error

ore: {
"intf_ipv6_neighbors": [
1{

dad”: "disable”,
interface”: "Ethernete”
+
“dad"
"interface": "Ethernetd”
ble",
Ethernets"
.
{
. "disable’,
"interface": "Ethernet12"
1
1{
"disable’,
Ethernet16”
disable",

name

interface": "Ethernet2e",
"min_ra_interval msec": 12000,
“ra_prefixes': [

"prefix": "1:1::1:1/1"

“address®: "1:1::1:1°

dad
interface
“interval':

1000

"dad”:
"interfac

“disable’,
: "Ethernet28"

“dad"
“interface":

ble',
“Ethernet32"

-15-17-02.html

Module
exception

“No Error”

9/13/24, 15:45
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Testcase Module
name Status User Input Commands Before After exception
g +

{
“address®: "2:2::2:2" “dad": "disable"
"interface": "Ethernet36"

reachable_tine": 500, 1
router_preference’s “Low", .
suppress” : Ethernetdo”
3 3
{
"interface’: "Ethernet2d”, "dad": “disable’
"nin_ra_interval msec': 13000 "interface": "Ethernetda”
3 .
1
adv_interval option”: true,
dad
dnssU: [ 3
{
"name”: “xyz.con" "dad”: *disable”,
"valid lifetine": 2000 "interface": "Ethernets2"
. 3
1
dad: “disable’,
interface: "Ethernetse”
3
ome_agent_config": true, 1

“home_agent_Lifetine": 3000, “dad e,
13, “interface": "Ethernet60"

: 825,
“neighbors®
“interface": "Ethernet68"

"ip': "2
"Link_layer_address”: "A2:B3:C4:C5:D6:4E"

}
{
"disable",
ve, “interface": 'Ethernet76"
1
{
E . abl
ra_prefixes Etherneto"
+
o autocenfig": true, 1
"off_link" “dad" ; ble',
"preferred “Tetiner 1900, “interface": 'Ethernet8d"
"prefix': 72:2::2:2/2" .
router_address”: true,
“valid_lifetine": 200000

“prefix": *4:4:

a/an

960000,

ra_retrans interval"
rdnss”: [

ble",
2:2::2:2", Ethernet96"

valid_lifetine": 760000

"disable’,
"address”: "4:4::4:4" "interface": "Ethernet100"

dad”: “disable”,
‘mediun®, interface”: "Ethernet104"

"dad" ble*,
"interface": "Vlan2" "interface": "Ethernet1og”
min_ra_interval nsec': 11000

¥

pv4_arp_timeout*: 120,
ipv4_drop_neighbor aging time*: 400,
“ipv6_drop neighbor aging time’: 600,
"ipv6_nd_cache expiry”: 200, e,
“nun_tocal_neigh": 340 “interface": "Ethernetlls"

ble",
Ethernet112"

"dad”: disable”,
“interface": "Ethernet120"

"dad": "disable"
"interface": "Ethernet124"

Ethernet128"

"dad": "disable"
"interface": "Ethernet120"

Managemento"
“neighbors"

“ipt: "feB

€670:47f: fede:5bs"
¥

+

“dad": "disable’,
“dnssU": [

"name”: "xyz.con"

interface™: "Vian1"
in_ra_interval msec': 13000,
“ra_prefixes"s [

“prefix": *2:2::2:2/2"
1
"rdnss”: [

address

1,

“ipvé_arp_timeout": 180,
“ipv4_drop_neighbor aging time’: 300,
*1pu6_drop_neighbor_aging_tine": 300,
~Apus i cache expity™: 180
“num_local_neig!

5 Tnput: () Comnands: [ Before: { After: { Error: "No Erro
testcase 08.1  Passed “intf ipv6_neighbors": [ “intf_ipvé neighbors": [
“intf_ipvé_neighbors": [ 1 €
“dad": "disal
rface

te”,
"Etherneto”

[

abe. con”

: "disable”,
rface”: “Ethernetd"

dad”: "d.
“interfac

1,
“interface": "Ethernet20",

"nun ra_interval msec": 12000, i {
refixes': [ "dad”: "disable “dad": "disable”,
"interface": "Ethernets" “interface": "Ethernets’
:1:1/1" i 1
€
“dad": "disable”,
“interface": "Ethernet12"
. I3
. i
"dad”: "disable “dad": "disable”,
1 "interface": "Ethernet16" “interface": "Ethernet16"
I3 3 b
€
“interface": "Ethernet24”, lad": "disable”,
“interval™: 1000 interface": "Ethernet20"
I3 I3
“name”: abc.con” 1
"dnss’ L } “dad": "disal
< ntertacers “ethernetzar
xyz.con” Ethernet2e”, b
) o interval meec”: 13000, €
“ra prehxes [ jad": "disable”,
interface”: "Vian1® interface": "Ethernet28”
“min_ra in(erva\ mse:": 13000, “prefix" +
“ra_prefixes": [ ¥ 1
1, “dad": "disable”,
prefix': "2:2::2:2/2" "rdnss™: [ “interface": "Ethernet32"
) 3
"address” 111t {
ab\e .
1 interfacer: “Ethernetss®
1 I3
1
"dad": "disable", "dad“: "disable",
"interface": "Ethernet2a", rface’: "Ethernetdo”
"interval": 1000 }
. {
"disable’
" @ “"disable", rface": "Ethernet4d”
1 "interface": "Ethernet2s" I3
“state": "deleted” 1
1 “dad": "disable”,
1 "dad": "disable", “interface": "Ethernet48"
"interface": "Ethernet32" .
. {
- ": "disable”,
"dad": “"disable", “interface": "Ethernet52"
“interface": "Ethernet3s" I3
“dad’: “disavle’,
"dad" able", nterface": "Ethernet56"
1nlerface : "Ethernetde" .
. {
able”,
"dad": “"disable", “interface": "Ethernet60"
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Testcase
name

test_case_08.2

Status

Passed

User Input

Commands

Before

“interface": "Ethernetdd”

"dad": "disable’,
"interface": "Ethernetds”

“dad": "disable’,
“interface": "Ethernets2"

"dad": "disable’,
"interface": "Ethernets6"

“dad": "disable’,
“interface": "Ethernet60"

"dad": "disable’,
"interface": "Ethernet64”

Ethernet6s”

"dad": "disable’,
"interface": "Ethernet72"

"dad": "disable’,
"interface": "Ethernet96"

dad”: "d.
“interface

"dad": "disable’,
"interface”: "Ethernet12

"dad": "disable’,
"interface": "Ethernet128"

“dad”: ble',
“interface": "Ethernet129"
1
{
"dad": "disable’,
: "Managenente",

+1e6f0:4ff

“name": “xyz.con"

1
"interface": "Vianl",
"nin_ra_interval msec": 130(
"ra_prefixes': [

"prefix! 2:2/2

1
“rdnss"s [

"address” 1:2:2
1
+

"dad": "disable’,
“interface": "Vlan2",
"interval: 1000

}

1,

“ipva_arp_timeout": 189,
“ipv4_drop_neighbor_aging_time*
“ipv6_drop_neighbor_aging time*
“ipv6_nd_cache expiry": 180
“nun_tocal_neigh": &

Before:

“intf_ipv6_neighbors”: [

“dad" e,
“interface": "Ethernetd”
1
"dad": "disable’,
"interface": "Ethernetd”
“dad able’,
“interface": "Ethernets”
1
{

*dad" e,
“interface": "Ethernet24”

jad": "disable",
“interface": "Ethernet32"

e,
Ethernetda”

*dad"

: “disable"
“interface"

"Ethernetas®

“dad”: ble",
"interface": "Ethernets2"

“dad

i “disable’,
“interface": "Ethernetse"

"dad

disable",
"interface": "Ethernet60”

"dad": "disable’,
“interface": "Ethernetsd”

"dad": "disable’,
"interface": "Ethernet68"

"dad": "disable’,

+fede:sbs”

00,

300,
300,

After:

After

“dad": “disable”,
“interface": "Ethernet6d”

“dad": “disable”,
“interface": "Ethernet72"

1
€
jisable:
nterface’: "Ethernet76"
3
{
“dad": "disable",
“interface": "Ethernet8o"
1
t
ad": “disable
nterface’: "Ethernetgd”
3.
{
“dad": "disable",
“interface": "Ethernet8s"
1
t
jisable:
nterface’: "Ethernet92”
13
{
“dad": "disable",
“interface": "Ethernet9s"
),
t
ad": “disable*,
nterface”: "Ethernet100*
3
{

“dad": “disable”,
“interface": 'Ethernet104"

ble”,
“Ethernet108"

“dad": "disable",
“interface": "Ethernetl12"
b
1
lad": "disable”,
nterface": “Ethernet116"
b
s
“dad": "disable",
“interface": "Ethernet12e”
b
1
lad": "disable”,
interface": "Ethernet124*
b
s
“dad": "disable",
“interface": "Ethernet12g”
b
1
“dad": "disable”,
“interface": "Ethernet129"
b
s
"dad": "disable",
“interface": "Managenento”,
“neighbors*: [
)
]
b
1
"dad": "disable",
"interface": "Vlanl"
b
1

able”,
“interface": *Vian2"

1
“ipva_arp_timeout": 180
ipv4_drop_neighbor_aging_tin
ipv6_drop_neighbor_aging ti
ipv6_nd_cache_expiry
“num_local_neig

Not defined”

+fede:sbs"
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Module
exception

Error: "No Error”
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Testcase Module
name Status User Input Commands Before After exception

“interface": "Ethernet72"

"dad": "disable’,
"interface": "Ethernet76"

1
1{
dad”: “disable",
interface": "Ethernetgo”
1.
{
"dad": "disable’,
"interface": "Ethernet8a”
1
{
jad": *disal
interface": "Ethernet8s"
1.
{
"dad": "disable’,
"interface": "Ethernet92"
1
{
dad”: “disable
interface": "Ethernet96"
1
{
"dad”: e,
"interface": "Ethernet100"
1
{
isable
1
{
{,
1
{
1.
{
able”,
thernet120"
1
{
isable’,
"Ethernet124"
3.
{
ble",
Ethernet128"
1
{
isable”
"Ethernet129"
3.
{

interface
“neighbors"
"ip: "feB0::e670:4ff: fede:5bs”
1
+
{
“dad": "disable’,
“interface": "Vianl®
1
{

isable’,
: "Vian2®

ipva_arp_timeout*: 180,
“ipv4_drop neighbor aging time": 300,
"ipv6_drop_neighbor aging time": 300,
"ipv6_nd_cache expiry": 189,
“nun_tocal_neigh": &

Testcase Complete Summary: Total: 16, Passed: 16, Failed: 0
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